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(i)  FFI P T GEIT26 8 |

(i) @Y ge7 et &

(iii) 9% J99 & 3b 3HF GHT 3iHd & |

(iv) ¥97 &1 1-10 % 3T Tg-IR qct J97 8 | J8% 37 F11 3% & | 577 @
Jcdeh Y97 7 I 20 ieg] & 37fer &7 787 511 T80 |

(v) ¥ GEIT11-20 7% TY-IR qI7 J97 8 | F4H Jo7 5 3 36 3 | 599 & T
9T Gog-STERT 8 | $98 @ JAF F97 H IR 80 5G] & 371 FHT T8 FT
15T |

(vi) I97 GEIT21 - 25 T%F FH-FH GIci Jo7 & | Y% J97 & 5 3F 5 | 570 @
Ik J97 HT I 150 Feq] @ 37fer &7 787 517 =115 |

(vii) Y97 GEIT 26 FHEEA T 15T TT 4i7ifcie Femn &1 ggeE 3N T aar oa
THIHT HH G Galea & |

(viii) TAR K YRA & 170 77 IGT-FrfE] 1 377+ FTH-Ji&as] & @ia 8 7a97
T BTy |

(ix) IGI-HElE 917 % 170 @il a1 et & 39T #1 sgatd 3 widt 8

General Instructions :

(1) There are 26 questions in all.

(it)  All questions are compulsory.

(iii) Marks for each question are indicated against it.

(iv) Questions No. 1 — 10 are very short-answer questions carrying 1 mark
each. Answer to each of these questions should not exceed 20 words.

(v)  Questions No. 11 - 20 are short-answer questions carrying 3 marks each.
Out of which one question is a value based question. Answer to each of
these questions should not exceed 80 words.

(vi)  Questions No. 21 - 25 are long-answer questions carrying 5 marks each.
Answers to each of these questions should not exceed 150 words.

(vii) Question No. 26 is related to identification or locating and labelling of
geographical features on maps.

(viit) Outline maps of the World and India provided to you must be attached
within your answer-book.

(ix)  Use of templates or stencils for drawing outline maps is allowed.
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10.

11.

12.
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Taey Sfied % 3 g HH-Y § 2 Lyl
What are the two indicators of a healthy life ?

TG | TR hl EX fop8 TehT |11 ST B 2 1
How is the level of urbanisation measured in India ?

I M O 7 Ty a1 ¥ TRt S i FHR AT G SR TS 1 SR

o1 ? 1
Why did Sher Shah Suri build Shahi road from Indus Valley to Sonar
Valley in Bengal ?

FAN ¥ < 07T ITE T=R I 954 31Tk Hgw ol s el &l SR 61 3g@
Hifse | é+é=1

Mention the two reasons which have made the satellite communication
very vital for our country.

YRA H foh8 R0 & ST <l TUIEIT 1 HIhT 3Tee FHrientor gar 2 2 1
What has led to a considerable degradation of quality of water in India ?

Ty ATYh SHEEAT a1l HETgd hid-4T 8 ? 1
Which is the most populous continent ?

o= ot get i gaT § Sifass @y = I g 2 1

Why do females have a biological advantage over males ?
foepfta srelexeean d, agaeas ARl 1 e THR & fRaTsadl § TSR
frerar & 2 1

In which type of activities, do majority of the workers get employment in
a developed economy ?

fafercan wieq frd ga 2 2 1
What is medical tourism ?
UL & $ &1 H SHEEAT 6T I Tcd 1 8 ? 1

Why do some areas of Rajasthan have a high density of population ?

‘Ta e weg i IRWTT @T | TFE i % foheal 9R &1 1 3g@
HIT | 1+2=3

Define the term ‘Human Geography’. Mention any four fields of Human
Geography.

“Gnder Site et 1 TE BT, SERT his 3T BT ot 3awEes ® |7 feRdl

T IUYH dohl gRT 39 A hi Y HIfre | 3x1=3

“A meaningful life is not just a long one, it must be a life with some
purpose.” Support this statement with any three suitable arguments.

3 P.T.O.



13.

14.
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Toone U fohrg had & ? Ta=e IUWI hl Tl o foeiwarsti i swen
T | 142=3

What are footloose industries ? Explain any two characteristics of
footloose industries.

e for T WRE % 2001 % HEETE VU @ fo@W 9 gHfem @

rayTiges Tege Hifve o fFefefaa gwt & 3w G 1+1+1=3
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(14.1) @ 3R (B) gN 3Afehd HEFRI ! TFATHY R Ik AW [ARET |
(14.2) IO URA & Toheal 1 U=l o 79 forfgn, f5=w g 9emr 78 2 |
(14.3) ‘HEFIL &g 1 qRETT T |
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Carefully study the map of India given below, showing metropolitan

cities of 2001, and answer the following questlons
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(14.1) Identify and name the metropolitan cities marked as (4) and (B).
(14.2) Name any two states of Northern India, which do not have any

metropolitan city.
(14.3) Define the term ‘metropolitan city’.

Fig:  [HElciigad g9 e gIRETaT wheieEl & 077, J97 &I 14 % T R &
Note: The following question is for the Visually Impaired Candidates

only, in lieu of . No. 14 :

‘Ter’ Sreg <1 GRS ST | 9SiTe % 2l HEFTR % ATH §dTsU |

Define the term ‘metropolitan city’. Name the two metropolitan cities of

Punjab.
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16.

17.

18.

19.

20.

21.

22,
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IRd H HY-am g o1 &9 fa-ufafe &= 9e @ g ? i3 O SR @
HIT | 3x1=3

Why is the area of cultivable land decreasing day-by-day in India ?
Explain any three reasons.

WRA | ITUN A I fohH TR Tgd HXd & ? fohgl o9 3grewon wfed samen
HIT | 3x1=3

How do industries pollute water in India ? Explain with any three
examples.

Yifcass @i fohes had & ? difcdess @i 1 1S ol foivand fafay | 1+42=3

What are metallic minerals ? State any two characteristics of metallic
minerals.

“fesp oM w1 & Tl T v, TG & i@ H1 A 7 R uw
HEEYU T W@ 8 |7 WA ¥ hig I ITYH IQTE Cohl 39 heA i GHH
SHifsr | 3x1=3

“Migration has been an integral part and a very important factor in
redistributing population over time and space.” Justify the statement by
giving any three suitable examples from India.

“gaddia &7 faerm iy’ 6l forgl 9 famwarst =1 quiq hifsre | 3x1=3

Describe any three characteristics of “Hill Area Development
Programme”.

AT A FHIGHT o TV R T§gH o fIw W8 foRe Aa-qedi i STrawehd
7, a8 guil adum 3R widt fifeat & o 3uam & ™ Sia wE A H
Teran @ 2 o wegl H TE iR | 3
What human values are required for the conservation and management

of our water resources, so that our present and future generations may
get usable water in sufficient quantity ? Explain in your own words.

Fiiufsaeh 93[EF qa 1 F1 o7d B ? FUR H Yafaa anfursdes 9s[eE dTed
1 foreal T formoanat shi samen il | 1+4=5

What is meant by ‘commercial livestock rearing’ ? Explain any four
features of commercial livestock rearing practised in the world.

UR-AGTEII |7 foh8 hgd @ ? IR-GTSAiE IGHT o fohral IR AT ohl
U HIfvT | 1+4=5

What are Trans-Continental Railways ? Describe any four features of
Trans-Siberian Railway.



23. IAUTH AR % 4 @ LR HH-H § ? T YR hl His Teh [=wdm
AT | 2é+2é:5

What are the five main bases of international trade ? State any one
characteristic of each basis.

24, “grfivr SfeqEr stcafess feped 3R T €9 9 40 9 It gt & |7 fhedl 9t
YT Rl gIT §9 A <t g i | 5x1=5

“Rural settlements are most closely and directly related to land.” Support
this statement with any five suitable arguments.

25. “9ud % Trafa gued w1 gy forra ant # seerar @ R |7 el it S
Serewil afgd 38 Hed 1 gy Aifve | 5x1=b

“The pattern of the composition of India’s exports has been changing over
the years.” Support this statement with any five suitable examples.

26. (26.1) WER % fGu T oIS WA # FHIRId 91 @& A, B, C
Tet D feam T F 1xo=2
A, TR § TEH STfieh ST Tl oF
B. W4 fohE @k 2003 H Ahad Hod gaehish arel o3
C. AMEICTTE TR-FETE Tetmm sh1 3ffaH T

D. UH THE AL
31 AN <hl UgEH hIfGT 3R Tk &0 o gEd Gl T8 W W)

3G gel 7 fafgu |
(26.2) WRA % U MU USHifae W@AHfa # fefafaa &1 feafa Sww
gl g feemst ot S W fofae 3x1=3

() 2001 ¥ 999 %Y SHEE] ITAT T
(i) ¢ R o 78y &1 TgR
(iii) SETe ¥ ford 3o g3
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(26.1)

(26.2)

In the given political outline map of the World, the following
four features A, B, C and D have been shown :

A.
B.

C.

D.

The country having the largest population in Africa

The country having the highest rank in Human
Development Index in 2003

The terminal station of the Australian Trans-Continental
Railway.

A major seaport

Identify these features and write their correct names on the
lines marked near each feature.

In the given political outline map of India, locate and label the

following with appropriate symbols :

(i)
(i1)

The State having the lowest population in 2001

A metropolitan city of Maharashtra located on the coast

(iii) The Steel plant located in Chhattisgarh

HETICTRIA 3797 acl GIRATIT TRSTIAAT & o178, o7 &1 26 & € W8 :

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 :

TSI | Head 3Tf¥eh &G aTel ¢ 1 A FaTsy |

Aa T g=ehieh 2003 H 3TfUehan Hod e aTcl o 1 M
ERIE

I UR-IEEE tomnt & el e ifam Wy w1 AW
JATET |

(26.1)
(26.2)

(26.3)

(26.4)
(26.5)
(26.1)
(26.2)

(26.3)

(26.4)
(26.5)

2001 H YA & a9 HY SHEEAT I TsH I IMH Fd15T |
TeETe U fed igr 3 s9q1d 9T 1 911 drsy | 5x1=5

Name the country having the largest population in Africa.

Name the country having the highest rank in Human
Development Index in 2003

Name any one terminal station of the Australian
Trans-Continental Railway.

Name the State of India having the lowest population in 2001.

Name the Iron and Steel plant located in Chhattisgarh.
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For question no. 26.1

I H. 26.1 & foU

» 06

-
L\l. '
& 19
T o |
o Al .
" "
o N\ :
q ~ 3 _
N K
hDRSEAE
/f/:. 2 i
TSN
ﬂw./«
A0  es 2
..Alﬂ..\ S \
A "%
% A%
| L N ./’ﬂ —p
- .
¢« ./, L

! IVOLLITOd 1!
aATdOM dHL
K 55 . e R~ e

P.T.O.

64/1/3






I E. 26.2 & U For question no. 26.2

YA &1 W@-AHTas (i)
Outline Map of India (Political)
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